Closing Tue: Sup. 1-3,4 TNOT — [
I . T Lﬁ ~3 OUT Py
Closing Thur: Sup. 5 J | = oureer

| _ § a;c;“;pé‘?«-;;ﬁ
Today: Sup. 5 Functional Notation TT A BE Gugs AC A TRELE saGuses
Get out graph/table that go with Ot Fopmup. |
Sup. 5 (pages 4-6 of lecture pack) m%f__ff: ouTPuT %

Def’n: A function is a rule that
produces a single output for every
allowable input.
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Temp vs time for a chem. reaction
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Let £ = time (in minutes)
P = temperature (in °C)
P(t) = “temperature at time t”

Y (o) =180
P(2) =300
P(g) =100

P(8) - P(2) = \0Q, WA 15 TS
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For the rest of today, we will
practice translating between

1. Functional notation

2. Graphs (values, heights, slopes)
3. English (time, temp, rates)
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from time a to time b
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At time ¢ = 4, At t = 4, the height of B
the temperature is 400°. graph is 400. P} =400
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temperature graph
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Very Important Notes:
If f(t) = “height at t”, then

f(b) — f(a) = “change in height from t=a to t=b"
f(b;:i(a) = “slope of secant line thru t=a and t=b” = “inc. ave. rate”
f(b;:g(o) = “slope of secant line thru t=0 and t=b" = “overall ave. rate”
% — f;b_)o_o = “slope of diagonal line thru t=b”
Note:
1. Iff(0) =0, then the overall 2. a = start of the interval

ave. rate is the same as the

b = end of the interval
slope of the diagonal line.
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Try rows 8-14 on your own later
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Let’s talk about intervals. Lo
Intervals Fact 1: WE WAT 7> Fine & Ao 4+
. . Se  THAT
An important translation |
PO =PlL+2

“h minutes after t”: t+h

“h minutes beforet”: t-—h

Now try Row 13:
Translate this to functional notation

“Find two times, two minutes apart
where the temperature is the
same.”



Flip to the next page of translations. Question:

Intervals Fact 2: Find the start, t=a, Translate rows 18, 19, and 20

and the end, t=b. Also solve row 18.
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Sup. 5 / Problem 4:
The graph of y = f(x) is given.

(a) Compute %
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(d) Find x such that f(x) — f(15) = 2
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(h) As x takes on every value from

X =2 to x = 8, which best describes )
(x+0.1)—f(x)?w\5¢5*5 OF ¢Eeptt “rigr. X To X0\
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the values of f
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ii) They increase, then decrease.
iii)\They decrease.

iv) They decrease, then increase.
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Graph

Functional
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At time ¢ = 4,
the temperature is 400°.

gr aph is 400

P(4) = 400
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